Wrekin Homework —20/10/23 — Hand in BY next Wednesday please!

Reading: 20 minutes per day — please write in your Reading Diary! Then Fiction Express please!
Spelling: Rehearse your spellings from your small blue spelling book each day ready for a test next Thursday!
Microorganism virus bacteria algae protozoa protist fungi yeast microbe conditions carbon dioxide

Maths: TTRS! Then the multiplication below:
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2) Lucas has completed a multiplication question.
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The answer is 92201 » &

Lucas

Lucas is incorrect. Look at his method.

Where has he gone wrong? Explain his error!



